National Exams May 2009
98-Ind-B7, Financial and Managerial Accounting

3 hours duration

. Answer the questions only in the space provided.
. You have three hours to complete the exam.
. Be clear and concise. Please use point form.

. Atthe end of this question booklet there are two pages of Information Sheets
followed by two pages of Present Value Tables.

. There are 23 pages in this booklet, including this cover sheet. Please ensure
you have all 23 pages before commencing the exam.

. When done, hand in all pages in this booklet.

. UNLESS OTHERWISE STATED, ALL ANSWERS ARE TO BE BASED ON
CANADIAN GAAP.

. This is a closed book exam. The ONLY aid permitted is a none
programmable calculator.

. If you have concerns about the possibie interpretation of a questions
please state what assumptions you feel you need to make in answering the
question. If in the opinion of the marker, the assumptions are reasonable
and do not assume away the basic intent of the question, your answer will
be marked based on your assumptions.

Question # Marks Minutes
Question 1 17 31
Question 2 8 15
Question 3 11 20
Question 4 13 23

Question 5 or 6 19 34
Question 7 13 23
Question 8 19 34

Total 100 180
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Quéstion 1 (17 marks; 31 minutes)

Using the worksheets on the following pages, record each of the following transactions, showing
the account name and the amount. Unless otherwise stated, you are to use accrual accounting.
If you believe that no entry is required for one or more of the transactions, state this and justify
your response by specifying the relevant accounting assumption or principle that suppoits
leaving it off the books of the company.

On the sheets provided record:
EITHER the transactions

OR the journal entries
Eg.) You paid a supplier $2,500 for goods received last month.

f) Your customer, Pauly Sr.'s Custom Manufacturing had ordered and paid for $10,000 worth of
motorcycle parts. Due to production problems your company could only ship 65% of the goods.
The balance of the order is shipped after year end. (3 marks)

i) It's time for some new offices and you have found the perfect place. In order to secure the
premises, you have given the landlord, Goldwing Holdings, Inc. a cheque for the first and last
month’s rent. The amount of the cheque was $8,200. You take possession of the offices on
January 1, the first day of your next year. (2 marks)

iii) Mr. Varago runs a small parts store as a proprietorship. On April 30, 2007 he finished his tax
return. Unfortunately, he had $12,000 in taxes to pay. (2 marks)

iv) On December 1, 2006, Dyna Corp. borrowed $50,000 and signed a note agreeing to pay
interest monthly on the first of each month starting January 1% and annual payments of the
principle on the anniversary date. The payments for 2007 will be; interest - $500/month ($6,000
for the year) and principle - $8,000. Record the transaction for December 2006. (5 marks)

v) Deuce International inc. has excess cash on hand so they bought 10,000 shares in MIR

Corporation for $80,000. (2 marks)
vi) Amortization for the period is: (3 marks)
Computers $5,000
Building $12,000

ANSWER ON THE APPROPRIATE PAGES FOLLOWING
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Question 1 cont'd

EITHER Record the Transactions
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- Dividends

- Expenses

+ Revenue

+ Share Capital

Liabilities

Assets

T#
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Question 1 cont'd

OR Record the Journal entries

# Account DR CR
Eg. | Accounts Payable 2500
Cash 2500
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Account DR
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Question 2 (8 marks; 14 minutes)

Super Glide Company manufactures three products from a joint production process operation.
Joint processing costs are $350,000 per year. The company allocates these costs to products
using the relative sales value method. Selling prices per unit and total output at the split-off
point are as follows:

Product X Y Z

Selling Price $16/kg $8/kg $25/litre

Output 15,000kg 20,000kg 4,000 litres
Required:
a) Calculate the amount of joint costs that will be allocated to each product (6 marks)
b) What is the other method Hart Company could use to allocate the joint costs? (1 mark)
c) Why would they not use the method you listed in b)? (1 mark)

Question 3 (11 marks; 20 minutes)

Required: For each item in Column A, place the letter in Column B that corresponds fo the
item’s description from Column C.

Column A Col.B Column C

Variable costs A. Costs that result from a joint production process and are
associated with a product that has a relatively insignificant sales
value

Separable costs B. Costs that do not change in total, regardless of the number of
unit produced

Mixed costs C. Costs incurred after the split-off point in a joint production
process

Split-off point D. Costs that cannot be traced to a cost object in an economically
feasible way

Joint costs E. Costs that will continue even if a company drops a product line

By-product costs F. Direct materials plus direct labour

Indirect costs G. Costs that change in direct proportion to changes in the cost
driver

Unavoidable costs H. Costs incurred in a joint production process before the split-off
point

Fixed costs l. Costs that have both variable and fixed

Step costs J. The point in a joint production process where the products
become individually identifiable

Prime costs K. Costs that can behave like either variable or fixed costs
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Question 4 (13 marks; 23 minutes)

Softtail is a local company that manufactures two different types of stainless steel motorcycle
parts, the S81 and the SS2. The company has only been in business for two years and up until
this point they saw little need for creating an annual budget. The company’s founders viewed
the environmental goals of the company as more important than the company's goal of earning
a profit. However, with the recent changes in the economy and the recent IPO, profits seem to
be much more important at Softtail. Willy Green is the president and founder of Softtail and is
also in charge of all the accounting for the company. Willy took business at university and
wants to apply some of the management accounting tools he learned at school to his company.
Willy has prepared the following annual budget for 2010 which shows a budgeted profit of
$230,000.

SS81 S82 Total

Estimated selling price per unit $15 $20
Sales Revenue $300,000 $200,000 $500,000
Expenses:
Direct Materials $60,000 $40,000 $100,000
Direct Labour 28,000 18,000 46,000
Overhead 56,000 36,000 92,000
Selling and Administrative 32,000
Total Expenses ~ $270,000
Profit $230,000
Overhead includes the following items:

Utilities $22,000

Maintenance 25,000

Rent 10,000

Indirect Labour 35,000

Willy suspects that some of the overhead costs could be assigned to the products more
accurately. He looks into the utilities costs and discovers that utilities are variable and a better
allocation of utilities cost is $0.75 per unit for SS1 and $0.70 per unit for SS2. He'd like to see
the effect of this change on his budget.

Required: Calculate the following, taking into consideration the revised allocation of utilities
costs (assuming the ratio of products sold is two SS1 for every one $S2).

a) Variable cost per unit and contribution margin per unit for each product (4 marks)
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b) Total fixed costs. (2 marks)

¢) The number of units of each product the company needs sell to break even. (4 marks)

d) Willy wonders if he is underestimating the company’s potential profit. Calculate the
number of units of each product they would need to sell to earn a profit of $250,000.

(3 marks)
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DO: EITHER - QUESTION 5

OR - QUESTION 6

Question 5 (19 marks; 34 minutes)
DO NOT DO THIS QUESTION IF YOU HAVE CHOOSE TO DO QUESTION 6

Willy's Chocolate Company uses standard costs and a flexible budget to control its manufacture
of fine chocolate. The purchasing agent is responsible for material price variances and the
production manager is responsible for all other variances. Operating data for the past week are
summarized as follows:

1. Finished units produced:
a. 4,000 boxes of chocolates.
b. Budgeted 4,500 boxes
2. Direct material:
a. Purchased, 6,400 kilograms of chocolate @ $15.50/kg
b. Standard price $16.00/kg
c. Used 4,300 kg
d. Standard allowed for 1 kg./box
3. Direct Labour:
a. Actual costs, 6,400 hours @ $30.50 for a total of $195,200
b. Standard price $30.00/direct labour hour
c. Standard allowed for 1.5 hours/box
4. Variable manufacturing overhead
a. Actual costs, $69,500
b. Budgeted, $10.00/direct labour hour

Required:
a) Compute the following Variances;

(i) Material - Purchase price variance and Efficiency usage variance
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Question 5 cont’d

(ii) Direct labour - Price variance and Efficiency usage variance

(iit) Variable manufacturing overhead — Spending variance and Efficiency variance
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Question 5 cont’d

b) What is the budget allowance for direct labour? (1 mark)

c) Would it be any different if production were 5,000 boxes? (3 marks)
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Question 6 (19 marks; 34 minutes)

DO NOT DO THIS QUESTION IF YOU HAVE CHOOSEN QUESTION 5

You are in receipt of the following information.
($ in thousands)

Harley Corp. Davidson Inc.
2006 2005 2006 2005
Net sales $ 11,170 $ 11,038 $ 9,427 $ 8,746 ]

Cost of goods sold 8,191 7,710 5,002 5,008
Operating expenses 2,596 3,033 3,005 2,953
Net income $ 383 $ 295 $ 1,330 $ 785
Current assets $ 5228 $ 4915 $ 3,656 $ 3,179
Long-term assets 5,763 5,314 6,681 4,974
Total assets $ 10,991 $ 10,229 $ 10,337 $ 8,153
Current liabilities $ 3,847 $ 3,406 $ 3,200 $ 2925
Long-term liabilities 1,157 1,219 1,187 1,320
Share capital 2,795 2,795 2,932 2,310
Retained earnings 3,192 2,809 2,928 1,598
Total liabilities and $ 10,991 $ 10,229 $ 10,337 $ 8,153

Réquired: a) Compute the ratios for 2006; (4 marks)

Harley Corp. Davidson Inc.

2006 2005 2006 2005

Gross profit percentage .302 0.427

Current ratio 1.443 1.087

Debt equity 0.825 1.086

Return on assets 0.030 0.096
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Question 6 cont’d

b) Your friend S.D. Sturgis has inherited some money from his long lost aunt. He wants to
invest $250,000 in one of the above companies. SD knows that these two motorcycle
companies are similar in size. SD has asked for your advice as to which one of these
companies he should investin. On the following pages, with specific, detailed reference to all of
the ratios in 6 a) above, prepare a report with your recommendation for SD and support this
recommendation. (15 marks)
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- Question 7 (13 marks)

The Alameda Company makes motorcycles and is considering replacing a machine they use in
their production process. Alameda’s cost of capital is 8% year. The company has the following
information related to this decision:

Old Machine New Machine

Original cost $ 90,000 $ 70,000
Useful life 10 years 5 years
Current age 5 years 0 years
Book value $ 47,500 n/a
Disposal value now $ 55,000 n/a
Disposal value after 5 years $ 5,000 $ 15,000
Gain on sale of machine now $ 7,500 -
Gain on sale of machine after 5 years nil nil
Annual cash operating costs $10,000 $ 8,000

a) Based solely on the information above, should Alameda purchase the new machine or
stick with the old one?

b) What is the PV of each alternative?
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Question 8 (38 marks; 68 minutes)

Choose the one alternative that best completes the statement or answers the question,
and place It in the box beside the question. Each question is worth one mark and marks
will not be deducted for incorrect answers.

1. Management accounting refers to accounting information developed for

Government authorities
Shareholders

Loan officers
Managers within an organization
None of the above

papow

2. When management accountants define costs as fixed they must consider

the contribution margin
projected sales revenue
the relevant range

the variable costs
None of the above

pooop

3. Iftotal variable costs are increasing

variable costs per unit are decreasing
variable costs per unit are increasing

activity is decreasing
activity is increasing
None of the above

Pan oW

4. The margin of safety
. shows how far sales can fall below the planned level before losses occur

. is the same as the break-even point

. equals break-even unit sales less actual unit sales

a
b
c. is the sales price minus all the variable expenses
d
e

. None of the above

5. A company can lower its break-even point in any of the following ways EXCEPT by
increasing the selling price per unit

increasing the contribution margin
increasing production

reducing its total fixed costs
None of the above

oo

6. A costfunction

a. does not explain past cost behavior
should include only personal observations of costs and activities

does not have a cause and effect relationship
shouid be a reliable predictor of future costs
None of the above

pooo

7. The Tuscania Company produces a product that has variable costs per unit of $5.60
($2.50 is for direct materials and $2.10 is for direct labour) and the selling price is $8.00.
If the break-even volume in dollars is $578,400 what are the total fixed costs for the
period?

$251,747
$206,570
$173,520

$144,600
None of the above

caoocR

8. Which of the following terms appears on an income statement prepared using the
contribution approach but not on an income statement using the absorption approach?
sales

gross profit
operating income

contribution margin
None of the above

[ 2
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9. Which of the following statements is FALSE?

a. Activity-Based accounting systems are more compiex and costly
than traditional systems

b. Activity-based accounting systems can create more accurate product
costs

c. Activity-based accounting systems are used in both manufacturing
and nonmanufacturing industries

d. Activity-based accounting systems classify more costs as indirect
costs than traditional systems do.

e. None of the above

10. Which of the following statements regarding by-products is FALSE?
By-products have relatively insignificant total sales value
A by-product is the same as a joint cost

Only separable costs are allocated to by-products
A by-product is not individually identifiable until the split-off point
None of the above

pooow

11. Al costs other than direct materials and direct labour that are associated with the

manufacturing process are called
Prime costs

Conversion costs
Product costs
Factory-overhead costs
None of the above

papow

12. Which of the following methods is required for external financial reporting?
. Absorption approach

. Variable costing

. Direct costing

a
b
c. Contribution approach
d
e. None of the above

13. When using the contribution approach to costing,
All selling expenses are deducted from contribution margin
All fixed costs are treated as period costs

All indirect manufacturing costs are inventoriable
All factory overhead is inventoriable
None of the above

Ppapop

14. A group of individual costs that is allocated to cost objectives using a single cost driver
is known as a

a. Cost pool
. Joint cost

b

c. Cost allocation base
d. By-product

e. None of the above

15. A unique individual product would be better accounted for using a

a. Product costing system
b. Process costing system
Period costing system

Job-order costing system
None of the above

®00

16. Conversion costs include
Direct labour and direct materials
Factory overhead and indirect materials

Direct materials and indirect labour
Direct labour and factory overhead
None of the above

Popow
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17. In the immediate write-off method, underapplied overhead is regarded as
An addition to the cost of inventory

A decrease in the cost of inventory

A reduction in current income

A decrease in cost of goods sold

None of the above

poooTw

18. In the mixed cost function, Y = F + VX, the X stands for

a. Total cost
. Total fixed cost

Number of units of the cost driver
Variable cost per unit of cost driver
None of the above

cooo

19. All manufacturing costs are assigned to the product under which method of product
costing?
Variable costing

Direct costing
Fixed costing

Absorption costing
None of the above

PpoooTw
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2008 Information Sheet

Ratio Formula

A/R turnover

Net credit sales
Average net accounts receivable

Avg. days to sell 365
inventory

Inventory tumover

Avg. collection period

365
A/R turnover

Current ratio

Current assets
Current liabllities

Debt/Equity ratio Total liabllities

Shareholders' equity

Dividend yield Dividends per share

Market price per share

Earnings per share Net income + Dividends

Average # of common shares outstanding

Financial leverage Average total assets

Averagie shareholders' aquity

Fixed asset turnover DNet sales

Average net capltal assets

Gross profit percentage Gross profit

Net sales

Inventory tumover Cost of goods sold

Averafe inventory

Price/earnings ratio Current market price per share

Earmings per share

Profit margin Income (Before Extraordinary items

Net sales revenue

Quality of Income Cash flow from Operating Activitles

Net income

Quick Ratio (Acid Test) Quick Assets (Cash and near-cash assets)

Current Liabllities

Return on equity

Net income
Average shareholders’ equity

Return on assets Net income + Interest expense

Average fotal assets

o . i + +
Times interest earned Net income + Interest expense + Income tax expense

Interest expense

Total asset tumover

Net sales
Average total assets

Working capital Current assets — Current liabilities

The Assumptions Underlying Financial Statements

Separate-Entity

Each business must be accounted for as an individual organization, separate and apart
from its owners, all other persons, and other entities.

Unit-of-Measure

Each business entity accounts for and reports Its financial results primarily In terms of the
national monetary unit.

Continuity (or Going-
Concern)

A business Is assumed to be able to continue to operate for at ieast one year beyond the
current balance sheet date.

Periodicity

The long life of a company can be reported in shorter periods, usually no longer than one
year.
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